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Note: Please attempt any 10 short questions from Question 2. Also, attempt both parts

of Question 3. Cutting and removal of any content is strictly prohibited.
0.No.1 Choose the correct Answer.(6 X 1 = 6)

1. Ifa,p are the roots of equation 3x2 + 5x — 2 = 0 then a + f is equal to:
=S b) = ) 2 2
a) 3 5 © = 5
2. Product of cube roots of unity is:
a) 0 | b)) 1 [ o -1 | 3
3. Each of the complex roots of unity is of the other.
a) Roots | b) Product | c) Cube | d) Square
4. The nature of the roots of equation ax? + bx + ¢ = 0 is determined by:
a) 1 | b) 3 | o 5 | 7
5. If a, B are the roots of the equation x> — x — 1 = 0 then the product of 2a and 2 is:
a) -2 | b) 2 | o 4 y —4
6. Radii of circle are all equal:
a) Allequal b) Double of the Diameter | c) Allunequal | d) Half of any chord
QN0.2: Cive the Short Answers.(8 X 2 = 16)
i.  Evaluate: (—1+vV-3)8+ (-1 —+-3)®
ii. Find discriminant: 9x?-30x+25=0
iii.  if o,B are roots of Equation Ix>+mx+n=0 Find: a383 + a?p?
iv. Find quadratic equation having roots 3w and 3w?
V. Define symmetric function.
vi. if a,B are roots of equation 4x% — 3x + 6 = 0. Find the sum and product of the roots.
vii. Prove that the product of cube roots of unity is zero.
viii. Use synthetic division to find quotient and reminder when a(x?® + 3x2 + 2) = (x — 2).
Q.No.3: Cive the long answers.(4 + 4 = 08)
a) Provethat: x3+y3+ 23 —3xyz=(x+y + 2)(x + wy + w?2)(x + Wy + wz)
¢) Use synthetic division to find the values of | and m, if (x-1) and (x+1) are the factors of the polynomial x3-

3Ix%+2mx+6
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